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ABBREVIATIONS  
DS = double stitch  
R   = ring  
SR = split ring  
CL  = cluny  
FR = floating ring  

SCMR = mock ring +    = join  
-    = picot  
Clr = close ring  
Victorian chain  

CTM = continuous thread method 

2 Shuttle 

 

Bead nº 10 
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START WITH CTM 

R1 = 13 DS +13   13 DS. Clr. 

SR2 = 13 DS +         / 13 DS. Clr. 

CL 1 = 20 passes 

SR3 = 2DS – 2DS – 2DS +       8DS. Clr. 

R4 = SCMR =13 DS +         FR 5 ( 7 PICOT. Clr.) 13 DS. Clr. 

CL 2 = 20 passes + SR2 

CL 3 = 20 passes 

R6 = 8 DS +     + R4  2DS – 2DS – 2DS. Clr. 

Victorian chain1 = These chains have 72 half stitches, or, 6 sets 

of 8:8. 

R7 = 13DS +           - 13 DS. Clr. 

Victorian chain 2 = idem  

 

 

 

 

 

 

 



 


